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Question Number : 1 Question Id : 352795401 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What are the essential requirements of a measuring instrument?

Options :

1. % Adhesive torque

2. % Controlling torque

3. #* Damping torque

4. # All of the above

Question Number : 1 Question Id : 352795401 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
Y T hl SR STTAThTY T 872

Options :
1. ® fasiu= i
2. ¢ fg3Iek areh
3. ® SfAefh
4, % g g+t

Question Number : 2 Question Id : 352795402 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

In which thermal effect is used to produce deflecting torque?

Options :

1. ¥ Wattmeter

2. % Energy meter

3. * Ammeter

4. % Multimeter

Question Number : 2 Question Id : 352795402 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

forad fagiues efdh 3= &A & forg et ueyrar &t ot fomam STrar 82

Options :

1. ¢ dfeii”

2. % Fefiefiex



3. ® gl
4, % AR

Question Number : 3 Question Id : 352795403 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What is the meter used to measure the power of a circuit called?

Options :

1. % kWh meter

2. ¥ Wattmeter

3. ¥ Multimeter

4. * Voltmeter

Question Number : 3 Question Id : 352795403 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
gRuy <t 21fch AT o folq TRged Hiex T shgelrdT 8?2

Options :

1. % kWh #HieR
2. ¢ gtz
3. ® AR
4. ® greeHieR

Question Number : 4 Question Id : 352795404 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What is a meter that measures electrical energy called?

Options :

1. ¥ kWh meter

2. # Wattmeter

3. # Multimeter

4, % \oltmeter

Question Number : 4 Question Id : 352795404 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
faerd o1t ol AT aTerT Hiex oRT hgdTdT 872

Options :

1. ¥ kWh #HiR
2. ¥ giciiR
3. ® AR
4. % dreedie



Question Number : 5 Question Id : 352795405 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Megger is used to measure

Options :

1. % Low resistance

2. ¥ High resistance

3. ¥ Medium resistance

4. ® Very low resistance

Question Number : 5 Question Id : 352795405 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
AR T g Rt ATUA & fog g &2

Options :

1. ® = gfoly

2. ¥ 3= ufo”ly

3. # 7gH ufa”iy
4, % ggdq A= ufekiy

Question Number : 6 Question Id : 352795406 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

By keeping the selector switch at ....... position, high values of resistance can be measured:
Options :

1. % Rx1

2. % RX10

3. ¥ Rx 100

4.+ Rx 1000

Question Number : 6 Question Id : 352795406 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

HolaR f@= &l ... fRIfd IR W@ & gfaRiy & I=a |19 A0 ST Hehd B -

Options :

1. % RX1

2. % RX10

3. # RX100

4.+ RX 1000

Question Number : 7 Question Id : 352795407 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25



What is the meter used to measure the electrical energy of a utility called?
Options :

1. # Wattmeter

2. ¥ Ampere-hour meter

3. ®# kWh-m.

4. % Avometer

Question Number : 7 Question Id : 352795407 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

IYTAAT &l faefa Sl 71U & g ugert Hiex o shgerrdr 82
Options :

1. ¥ gic HiR

2. ¢ UfR-guer ez

3. ® kWh =,

4, % ganfiex

Question Number : 8 Question Id : 352795408 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

When an electric current is passed through a conductor, then:

Options :

1. Heat is produced in it

2. ¥ Heat is absorbed in it

3. ® It has no effect

4. % None of the above

Question Number : 8 Question Id : 352795408 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

wTe foheft Tetes # farga o anfea it et @, -

Options :

1. ¢ IAE FAT I gt &

2. % IGH HSAT TGV gi &

3. % IuH g gg el TsdT 8

4. % 3 Y HIS T8

Question Number : 9 Question Id : 352795409 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What is the sole plate of electrical iron made of?

Options :

1. % Ceramic



2. % Soil
3.+ Castiron

4. * None of these

Question Number : 9 Question Id : 352795409 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

fAefafad 7 @) a1 wnfees o1 & o= glar 82

Options :

1. ® gfew

2. ¥ geltA=<

3. ¢ JRA HY

4, % G wic

Question Number : 10 Question Id : 352795410 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

On what principle does a domestic refrigerator work?

Options:

1. # Vapor absorption refrigeration system

2. ¥ Vapor compression refrigeration system

3. ¥ Thermo electric refrigeration system

4. # Liquefied gas refrigeration system

Question Number : 10 Question Id : 352795410 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

TR AThoReR fohd RigId IR i e 82

Options:

1. # groq SraRnvor ATheRe fwed

2. ¢ arsg U ko A

3. ® oAl geifaeen AhorReE eer

4, ® zg 19 AheRaA Ren

Question Number : 11 Question Id : 352795411 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The brushes of electric machines are made of:

Options:

1. # Nichrome

2. ¥ Carbon

3. # Constantine



4. % German silver

Question Number : 11 Question Id : 352795411 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

faegd AsfiHl & ST e gid &
Options:

1. ¥ ATehA

2. ¥ w1

3. ¥ R[0S h

4, % S e

Question Number : 12 Question Id : 352795412 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The insulating materials used for cables have the following properties:

Options:

1. ® It should not be hygroscopic

2. ® It should be inflammable

3. # It should be acidic

4. ¢ All of the above

Question Number : 12 Question Id : 352795412 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Ffeet & forg tger faggaRielt uerat # fAmfafea qor giar &:
Options :

1. ® 38 STEame! 781 g ey

2. % 3g 3rogereiter g1 T1lgq

3. ¥ 38 orTHg BT 918y

4.« T gt

Question Number : 13 Question Id : 352795413 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Insulating materials used for cables must contain

Options:

1. # High dielectric power

2. # High mechanical strength

3. % Low cost

4. ¢ All of the above



Question Number : 13 Question Id : 352795413 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

SRl 3 forg o Aeft garelf & @ iR
Options:

1. ¥ I Widgld g

2. ¥ I=q gifies g

3. ® Gy AT

4, v 3 g+t

Question Number : 14 Question Id : 352795414 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

If a table fan is unaffected by the speed-control knob, its

Options:

1. ¥ The capacitor is burnt

2. ® The regulator is open-circuit

3. ¥ The regulator is short-circuited

4. * The oscillating system is faulty

Question Number : 14 Question Id : 352795414 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

& i A o1 U Tifa-fAd=Tor Afa & Suifad <gar &, dt Suar:

Options :

1. % FeriA (Capacitor) ST AT 8

2. % ¥dex S-afhe &

3. ¢ W fé-afhe &

4. % SRR woTeh <rwge &

Question Number : 15 Question Id : 352795415 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

You have to repair a circulation type water heater whose hot water contains steam. This problem
can be solved by checking:

Options:

1. # All points of leakage

2. ¥ Setting of temperature

3. ¥ All wires for loose connection
4. % State of the element

Question Number : 15 Question Id : 352795415 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25



3ITUh! T UhTR &h ST dTUch chl A3 ehel & fSiadh T ST A arsg Iuf¥d g1 39 U1 T fARReneur &6t Sirg
T gua g;

Options :

1. ® eRuT (Leakage) & g+t famg
2. ¢ qrg Wit <t afdr

3. % dict GO & forg oft ar
4. ¥ QeltHUe hi araeern

Question Number : 16 Question Id : 352795416 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

When alternating current passes through an ohmic resistance, the electric power converted into
heat is:

Options :

1. # Apparent power
2. ¥ True power

3. #* Reactive power

4. * None of the above

Question Number : 16 Question Id : 352795416 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

STe U1t 4RI Geh 3igfies ufariy & orrdt 8, at Ssa1 # uRafdd fagga «rfh st o hgd &:
Options :

1. ¥ g Uik

2. ¢ gredfdes ik

3. ® yfaferanefier ik

4. % 390 9 IS g

Question Number : 17 Question Id : 352795417 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Which of the following is active element:

Options :

1. ®* Resistor

2. # Capacitor

3. ¥ Current source

4. # Both (a) and (b)

Question Number : 17 Question Id : 352795417 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
fAfafea d & o= afohg a@ &:



Options :

1. ® gfe’iy

2. % gyt

3. ¢ 4R 9l

4, % (31) 3R () a

Question Number : 18 Question Id : 352795418 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Which arrangement will give a circuit resistance of 4 ohm?

Options :

1. ® Three resistors of values 2 ohm, 3ohm and 6 ohm

2. ¥ 2 ohm resistance in series with parallel combination of 3 ohm and 6 ohm resistance

3. #¥ 3 ohm resistance in series with parallel combination of 2 ohm and 6 ohm resistance

4. ¥ 6 ohm resistance in series with parallel combination of 2 ohm and 3 ohm resistance

Question Number : 18 Question Id : 352795418 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
i+ it e J uRuy o1 ufaRiy 4 e gm?

Options :

1. % 2 31, 3 3f1H 3R 6 3fIH & A Tl i ufcRiereh

2.+ 3 319 3R 6 31 UfcRtY o THMIGR HAISH & AT $f@e | 2 3 Uty
3. ¥ 2 37 3R 6 31H UfaRIY & GHHIGR JAIST oh T1Y @ell 3 3 UfaRie
4. % 2 3¥ 3R 3 A UfaRY & GHMIGR TSI & 1Y Y@l 6 3H Ul

Question Number : 19 Question Id : 352795419 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Kirchoff law is applicable to:

Options :

1. ® A.C. circuit only

2. % D.C. circuit only

3. #® Passive network only

4.+ Both A.C. as well D.C. circuit

Question Number : 19 Question Id : 352795419 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

foh<airts o1 fAas @ giar &:

Options :

1. ® hadt g.H). aRuy &



2. % dhao St uRuy &
3. ® had fAfshy Aeash &
4.« u ot ud S, g alRuy |

Question Number : 20 Question Id : 352795420 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

A circuit consists of a 100 ohm, 270 ohm and 330 ohm resistor in series. If the 270 ohm resistor is
removed, then current:

Options :

1. % Increased

2. * Decreased
3. # Become zero

4. ¥ Remaining constant

Question Number : 20 Question Id : 352795420 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Qeh Hfche # g@ar & 100 374, 270 37 3R 330 31 & ufaRiy &, afe 270 31\ Aept arelr ufaRiy ger f&ar Sirar g,
ar g

Options:

1. v & qfg gnft
2. % ¥ et ghft
3. ¥ =g gt St
4. % f@q gt

Question Number : 21 Question Id : 352795421 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Two capacitance C1 and C2 are connected in Series. The combination Capacitance is

Options:

1. % C1+C2

2. ¥ C1C2/(C1+C2)

3. % (C1+C2)/C1C2

4. % 1 /(C1+C2)

Question Number : 21 Question Id : 352795421 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Y FuRa C1 7d C2 95t A | SIS ¢ dl HAISTH T gt AT BT

Options:

1. % C1+C2

2. ¥ C1C2/(C1+C2)



3. % (C1+C2)/C1C2
4. % 1/(C1+C2)

Question Number : 22 Question Id : 352795422 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Three resistor of equal resistance are connected in parallel across a 20V dc source if the current
through one of the:

Options:

1.4 3.33 ohm
2. % 4.44 ohm
3. # 5,55 0hm
4. % 6.66 ohm

Question Number : 22 Question Id : 352795422 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

T uferter & = ufarter ges 20 V i3t Sid & gamiaR | S8 Y 8, 3 378 @ ot o & A1emm © oY vatted
g &

Options :

1. 3.33 3igd
2. % 4.44 g9
3. # 5,55 3y
4. ® 6,66 3T

Question Number : 23 Question Id : 352795423 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Corona loss is:

Options :

1. # Partial breakdown of air

2. ¥ Complete breakdown of air

3. # Sparking between lines

4. % sparking between line and earth crust

Question Number : 23 Question Id : 352795423 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

IR g1 &

Options :

1. ¥ grg Al SHifAeh faeryo

2.+ ga1 o1 ot fagetyor

3. % T3l o e wfch



4. % 139 Ud 31y IR} <hl guS! oh St WIfchiT

Question Number : 24 Question Id : 352795424 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The most common type of fault is:

Options :

1. # Single phase to ground

2. * Phase to phase

3. #* Two phase to ground

4. % Three phase to ground

Question Number : 24 Question Id : 352795424 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
g M UhRR <hl &IV &

Options :

1. ¢ Uohdd TROT T TI¥S
2. % TROTY RO

3. # g WuT Y U
4, % {9 TR RS

Question Number : 25 Question Id : 352795425 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Relay contacts are normally made up of:

Options :

1. ¥ Silver contact

2. ® Copper contact

3. # Platinum contact

4. * Steel contact

Question Number : 25 Question Id : 352795425 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
R duch Iy =u & 5 gid 8

Options :

1. ¢ 9idt Huch
2. ® IR HUch
3. # wife gudh
4. ¥ el 4uch



Question Number : 26 Question Id : 352795426 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Buchholz relay is a:

Options :

1. % QOil actuated relay

2. # Current actuated relay

3. ¥ Gas actuated relay

4. % Oil temperature actuated relay

Question Number : 26 Question Id : 352795426 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

ehg o et &

Options :

1. ¥ do1 Gfchg Rat

2. ® gryafera Rat

3. ¢ 71 githy Rt

4, ¥ 31 qroH Gicha Ret

Question Number : 27 Question Id : 352795427 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Buchholz relay is used for protection of:

Options :

1. ®* Generator

2. # Transmission line

3. ¥ Transformer

4. % Bus-bar

Question Number : 27 Question Id : 352795427 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

gehgieal Rel et IUTNT fehareh forg forar Sirar &:

Options :

1. % argefiae gRomR

2. ¥ Iuehur giRomfA

3. ¢ fdazor uRonfas

4. % I Rrafia safFes gRonfs

Question Number : 28 Question Id : 352795428 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
Transformer transforms:



Options :

1. ® voltage

2. # Current

3. # current and voltage
4. ¥ Power

Question Number : 28 Question Id : 352795428 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

gfRonfas EuiaRd = a1 &:

Options :

1. ® e

2. % g1

3. ¥ grT 3R glees

4, ¢ i<k

Question Number : 29 Question Id : 352795429 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The hum in Transformer is mainly attributed to?

Options :

1. % load change

2. # oil in transformer

3. ¥ magnetostriction

4. % mechanical vibration

Question Number : 29 Question Id : 352795429 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

aRonfas & gam g wU 3 fhads forg fomier giar 82

Options :

1. ¥ ore uReds

2. % gRunfas & 3w

3. ¢ AEEIgaRE

4. % T g

Question Number : 30 Question Id : 352795430 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Flame proof motors are used in:

Options :

1.+ explosive atmosphere



2. # moisture free atmosphere
3. # dust free atmosphere

4. ¥ Mointure and dust free atmosphere

Question Number : 30 Question Id : 352795430 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

TelH Yk Al 1 IUTRT fohat STraT &:

Options :

1. ¢ faTpie ardreror

2. % et qod ardreRor

3. ® YT Hod IIATIROT

4, % FHY 3R Yl e qTATEROT

Question Number : 31 Question Id : 352795431 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What should be the minimum insulation resistance value for commisssioning of 433 V electrical
equipment?

Options :

1. # 1 Mega Ohms on application of 250 V DC

2. ¥ 1 Mega Ohms on application of 500 V DC

3. ¥ 5 Mega Ohms on application of 2500 V DC

4. % 1 Mega Ohms on application of 2500 V DC

Question Number : 31 Question Id : 352795431 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

433 diee fAg[d IUeh0T ht ATe] ¥ o ol AaH S UfaRie Jed Rt gi+1 A1fgq?
Options:

1. % 250 gice S.9%. & Tfihed R 1 Fmseniyg

2.+ 500 diee S48, & Yweflehed | 1 #meiH

3. % 2500 dice St.4Y. & Twilche™ TR 5 Breiy

4. % 2500 diee 1.9, & Yreliche™ R 1 Jmaend

Question Number : 32 Question Id : 352795432 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Which circuit is used to ensure earth continuity of flexible cable used for portable machines:
Options:

1. # earth leakage protection

2. ® Earth leakage lock out protection

3. ¢ pilot corp protection



4. % remote control circuit

Question Number : 32 Question Id : 352795432 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

giéaret ARfiHT & foiq Iuah dht S areft eteiiedt cheret bl 3ref FARmardT S et o forq forg dfche ot Iuah o
ST 8

Options :
1. ® 31 oficher dver

2. % 31ef Sfichet Sleh S13¢ UieaR=

3. ¢ Ul iR TREM
4, % ROl sgler afche

Question Number : 33 Question Id : 352795433 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What is the basic requirement of a winder operator for operating winder above 75 HP ?
Options :

1. ¢ First Class Winder Operator Certificate

2. ® Second Class Winder Operator Certificate

3. ¥ Either (a) or (b)

4. ¥ no competency required

Question Number : 33 Question Id : 352795433 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

75 QAW § SR & AT5-8X & AT oh folg qT8-ex HTuReR hl JHATET straaeqar T g?
Options :

1. ¢ Uy Hofl qg-ex MTuex YH0T U

2. % fzdtg ol argeex SifuRex yHmor U

3. ® grdt (1) ot («)

4, % Rt GIIdT hl STIGRT ol

Question Number : 34 Question Id : 352795434 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

In plug and socket coupling the length of the earth pin is smaller when compared with other pins
because of:

Options :

1. ® economical operation of the corresponding machine

2. ® Prevent opening of coupling while the conductors are live

3. ¥ isolate Electrically the flexible cables asssociated with plug and socket coupling
4. % (a) and (c) both



Question Number : 34 Question Id : 352795434 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

W7 e Hiche ehufeT # 31 O chl o 317 U &bt Jorir & ®icl gl 8, Hifch:

Options :

1. % gefad #efiH o1 fhthrad) e

2. % Shadgex d15d g1 TR Shufeltl & IgTe ol Ach

3. ¥ T 3R Githe HUTRRT & St erehelt Sharer Y e &0 & SrerT Y

4, % (37) 3R (9) gt

Question Number : 35 Question Id : 352795435 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

After taking permit to work on overhead line feeder, next immediate safety measure is
Options:

1. # Discharge the line using the earth rod and hang it on the phase wire.

2. ® Discharge the line with the earth rod and short any two phase wires with earth.

3. # Discharge the line with the earth rod and short one of the phase wires with earth.

4.+ Discharge the line using the earth rod and permanently short the phase wires to earth them.

Question Number : 35 Question Id : 352795435 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

3MeReS AT IS UR h1H ch- chl AT oA S F1E, 3Tl IRd Tl HoR T &

Options:

1. ® 37 S T IUTNT hRch ATS i fSTTST e 3R 5T Tl IR TR FAChIT |

2. % 379 IS I IUTNT hich 13 i [STTST e 3R 31 & AT fohegl &t ThoT dIRY ol *ATE e

3. % 3rf IS T IUTNT Tch ATS ohi FSTATST e 3R 312 oh T fohelt Ueh thl AR ahl RME e

4.+ 31 S T IUTNT chich AT oht STITST ahe 3R Thol dRI et WTHT ®F T 31ef & T ATE R |

Question Number : 36 Question Id : 352795436 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Ohm's law states that:

Options:

1. # V=1/R

2. ®# [=VR

3. ¥ V=IR

4. ® V=I+R

Question Number : 36 Question Id : 352795436 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25



3N o1 fATH whgar & fon:
Options:

1. * V=1/R

2. # I=VR

3. ¥ V=IR

4. % V=I+R

Question Number : 37 Question Id : 352795437 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

C.B.C.T. means

Options :

1. % circuit breaker current transducer

2. # core balance current transducer

3. #® circuit breaker current transformer

4. % core balance current transformer

Question Number : 37 Question Id : 352795437 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
.. EE. o ef g

Options :

1. ¥ gfche SR URT TTHSTTR
2. ¥ PR IIY YR ASTIR

3. ¥ gfche step? YR gROTHAT
4. ¥ &R Soig R uRonfas

Question Number : 38 Question Id : 352795438 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What is the maximum current level a human can withstand without getting injured?

Options :

1.4 1mA

2. # 30 mA

3. % 150 mA

4. % 300 mA

Question Number : 38 Question Id : 352795438 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

AG foHT 9TaeT §3 hic hl HAfdehad T gt T o Hehdl 872

Options :

1.+ 1 o<l gediiR



2. % 30 Al TR
3. % 150 Al Taftr
4. % 300 foeft vafimr

Question Number : 39 Question Id : 352795439 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What type of mixture is filled in the earth pit?

Options :

1. ¥ mixture of salt and coal

2. ¥ mixture of salt and charcoal

3. ® mixture of lignite and salt

4. ¥ mixture of salt and wood dust

Question Number : 39 Question Id : 352795439 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

3rfiree () & forg UahrR a1 fAsruT 9T STraT 872

Options :

1. ® T 3R T T fA8oT

2. ¥ A% 3R IRhI kT AT

3. & forge SR 9H ot Ao
4. % TH IR RSt hi e el AT

Question Number : 40 Question Id : 352795440 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Phase control converter converts:

Options :

1.4 A.C.to D.C.

2. ¥ D.C.to A.C.

3. ® Pulsated AC to pure AC

4. ® Pulsated D.C. to pure D.C.

Question Number : 40 Question Id : 352795440 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

TROT fAF0T g uRafdd s &:

Options :

1. ¢ g4 ek S

2. % drdrg g,

3. ¥ wWidq gl 9 g v



4, % "wfeq .4, 9 g S

Question Number : 41 Question Id : 352795441 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What is the full form of NGR?

Options :

1. # non grounding reactor

2. ®* natural general reactor

3. # neutral grounding reactor

4. ¥ neutral grounding resistor

Question Number : 41 Question Id : 352795441 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Q.13 &1 quf &Y T 872

Options :

1. ® 919 78feT Ruer?

2. ¥ yrepfden UR¥feT Ruaex

3. #® Yoo 3T Ruae

4, ¥ gga Tr3fEn MATR

Question Number : 42 Question Id : 352795442 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Effect of low power factor:

Options :

1. % high energy loss

2. # low energy loss

3. # low voltage drop

4. #® Rise in voltage

Question Number : 42 Question Id : 352795442 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
¥ 2Afth HReh hT THTE:

Options :

1. ¢ 3T Sl giA
2. ® GH ol g1v
3. ® oA glees 81U
4, % e | gfg



Question Number : 43 Question Id : 352795443 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Effect of high power factor:

Options :

1. % high energy loss

2. ¥ low energy loss

3. * low voltage drop

4. % Rise in voltage

Question Number : 43 Question Id : 352795443 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
3d 2Afch SRek AT YHTE:

Options :

1. ® I=a Sl giiA
2. ¥ &H Sl g
3. ¥ o dicds 81U
4. % dierer A i

Question Number : 44 Question Id : 352795444 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Restricted neutral system of power supply in mines has the advantage of

Options :

1. ®* Reduces heating effect in equipment.

2. # Reduces the stress in the circuit/equipment carrying fault current.

3. # Reduce shock and burn and fire hazards

4, ¢ all of these

Question Number : 44 Question Id : 352795444 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

@l A fasteft smyfd & ufdsifaa aeey gormeft s o 8:

Options :

1. # IO H T U ehl A hdT 8|

2. % et hic g i dict Ylche [ IUDUT H WY ohl i hedT 8l

3. ® 2lfch Ud o qUT 3177 & EaR| chl ehH HAT

4, g gt

Question Number : 45 Question Id : 352795445 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
According to CEA (Measures for safety & Electric supply) Regulations, 2010, length of trailling cable



of SDL Should not exceed
Options :

1.%90m

2.¥ 100 m

3.%120m

4. % 150 m

Question Number : 45 Question Id : 352795445 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

1y faggd ufereRzor (YRerm SR fagga smmufd & ferg Iur) fafagm, 2010 & SER, TESTe & ST el <h
LS 31fdres 781 gt a1feq:

Options :

1. ® 90 HiR
2. ¢ 100 #Hie®
3. % 120 Hiex®
4. % 150 Hex

Question Number : 46 Question Id : 352795446 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The conductors of the armature in a DC machine are:

Options :

1. ¥ Wrapped around the armature core

2. ¥ Keep firmly in the grooves

3. # Soldered with armature

4. * welded to the armature

Question Number : 46 Question Id : 352795446 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
fase emer At & SR & 1T gid &

Options :

1. ® TR IS & IRT AR ferue ¢
2. ¥ @it H ATl I € §Y

3. #® IR & 1Y udfehd (soldered)

4, % IR H Afced

Question Number : 47 Question Id : 352795447 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

DC motors are used for application in which of the following?

Options:



1. # flour mill
2. % water pump
3. traction

4. % fan

Question Number : 47 Question Id : 352795447 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

PrefeifRa & & Read s & g fise arr Aiedt @t gaffic Suge Goe o &

Options :

1. ® 3rarfAe

2. ® SI-ug

3. ¢ Tl

4. ® g@m

Question Number : 48 Question Id : 352795448 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The intrinsic characteristic of a generator is the curve between

Options :

1. % Amateur current and e.m.f.

2. ¥ em.f. and stream

3. #® Field current and no-load voltage

4. % IR drop load

Question Number : 48 Question Id : 352795448 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

STRER T SHT=IReh 1 eeror fheds e ach glar 82

Options :

1. ¢ AR 9RT qUT 9, a1, 9

2. % faar g qur gr

3. ¥ ¥ 4RI Ud A-cilS aleds

4. % IR U <l

Question Number : 49 Question Id : 352795449 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What is the series generator used for?

Options :

1. # lighting load

2. # battery charging



3. ¥ booster

4. ®¥ Where the load keeps on increasing and decreasing.

Question Number : 49 Question Id : 352795449 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
Foft TR 1 UANT foheah forg gl 82

Options :

1. % wsféndts

2. % ot Tifshn

3. VIR

4. % Sl R s 31feeh gedT-dedT BT gl

Question Number : 50 Question Id : 352795450 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What does the motor do?

Options :

1. ¥ Converts mechanical energy into electrical energy.

2. ¥ Converts electrical energy into mechanical energy.

3. # Converts chemical energy into mechanical energy.

4. ¥ Converts potential energy into mechanical energy.

Question Number : 50 Question Id : 352795450 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

HIeR T el 872

Options :

1. % Zifyeh ol Y e Soif & Taerd 21

2. e it Bt wifeh S & Seerdt 21

3. ¥ IR 3Kt ol FifAch Hetl | dgerdt g

4. % fQfas St et Fifes Hoil 7 e 8|

Question Number : 51 Question Id : 352795451 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What is the number of runs on the field pole in series motors?

Options :

1. ® over shunt field

2. # less than shunt field

3. ¥ less than armature

4. ¥ same as shunt field



Question Number : 51 Question Id : 352795451 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

ot Aex} # thiee ga UR AT <hl H&dT1 T gl 872

Options :

1. ® < thice ¥ 31l

2. ¥ < hice ¥ A

3. ¢ R I HH

4. % < hics & A

Question Number : 52 Question Id : 352795452 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Due to weak commutation:

Options:

1. % the motor will draw more current

2. * Flux will deform

3. ¥ There will be sparking at commutation

4. % all of these will happen

Question Number : 52 Question Id : 352795452 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
HHSTR HRIEL h hRUT:

Options:

1. % Hiex 3fdes gy @il
2. ¥ goTey <t faepfa givft
3. ¢ HRIIIA TR WIfchT gt
4. % T gt gt

Question Number : 53 Question Id : 352795453 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The working principle of the alternator is:

Options:

1. ®# mutual induction

2. ¥ Faraday's theory of electromagnetic induction

3. ¥ self-induction

4. * self induction and mutual induction

Question Number : 53 Question Id : 352795453 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25



gATafdd ol -G 8:

Options:

1. % 3U=IURYT (mutual induction)

2. ¢ O1S I faegla-grarchia IRt deieft g
3. ¥ @-WRu

4. ¥ TUUT JAT 3=U=T UROT

Question Number : 54 Question Id : 352795454 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a type of transformer?

Options:

1. ¥ core type

2. #® shell type

3. # berry type

4. ¢ all of these

Question Number : 54 Question Id : 352795454 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Pt & @ & a1 ZRETR T U TR 27

Options :

1. ¥ R

2. % Qa1 ezy

3. ¥ 3 erzy

4, < gt

Question Number : 55 Question Id : 352795455 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What is the efficiency of a transformer?

Options:

1. ¥ 95t0 98%

2. % 90 to 95%

3. # 85t090%

4. % 80 to 85%

Question Number : 55 Question Id : 352795455 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
CITRIFR <hl g&rdT fohd o &9 gidt 872

Options:



1. ¥ 953 98%
2. % 90 ¥ 95%
3. ¥ 854 90%
4, % 809 85%

Question Number : 56 Question Id : 352795456 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Auto transformer is used because:

Options :

1. ¢ Its efficiency is high.

2. ® Saving of copper is more

3. # Its regulation is weak.

4. % simple in structure

Question Number : 56 Question Id : 352795456 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

3ife) TR T v gar &, i

Options :

1. ¥ ST g e gielt 81

2. % gId <l s SaTel gl gl

3. ¥ ggep1 fAuH HHSIR glar 8l

4, ¥ T H A

Question Number : 57 Question Id : 352795457 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What type of wiring is recommended for cinema halls?

Options :

1. # hidden conduit wiring

2. * floor conduit wiring

3. ¥ Casing and Capping Wiring

4. % p.V.C. wiring

Question Number : 57 Question Id : 352795457 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

& gietl o fory fohe Tenr i arafr &t RwwRar &t STt 872

Options :

1. ¢ &1 g5 ey araia

2. ¥ Jd shreyge araRaT



3. ¥ hidT R hit qrafer
4. % W 1.4, qrafir

Question Number : 58 Question Id : 352795458 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

A fuse is a circuitis is useed for the following purposes:

Options :

1. ¥ To protect the insulation of the cable from overheating

2. ® To protect the electrical equipment connected in the circuit

3. #® to limit the flow of electric current in a circuit

4. ¥ to protect switches

Question Number : 58 Question Id : 352795458 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Ry | wEst ot uanT fAefafaa Iga @ fhar sirdr &:

Options :

1. ¢ et o Rregaatel) STaRoT (S==geieH) F 9@ 81 & a9

2. % uftgy & 2 R it ot qRiE T

3. ¥ uRuy # faggd 9RT & Uarg ol HfAa @

4. % R A e =

Question Number : 59 Question Id : 352795459 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What type of electricity is used in homes?

Options :

1. ¥ AC

2. % DC.

3. ¥ ACAnd D.C. Both

4. % All of the above are true

Question Number : 59 Question Id : 352795459 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

oI F fohd TR <t g <t vt fowam sirar 82

Options :

1.+ g

2. % S,

3. ® gt ud 1.4 aFl

4, % Iuded & gt 9 8



Question Number : 60 Question Id : 352795460 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Ampere hour unit is:

Options :

1. ®* power

2. ¥ energy

3. # passion

4. % potential difference

Question Number : 60 Question Id : 352795460 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

UfR gueT g1 &:
Options :

1. % gk &1

2. ¢ ol @t

3. ® 3rder @t

4. ® fquaraR &1

Question Number : 61 Question Id : 352795461 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The cells are added in series to increase :

Options :

1. % current capacity

2. % voltage rating

3. # age of cells

4. ¥ terminal voltage

Question Number : 61 Question Id : 352795461 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

fAmfeiRed ent g o forg Al et Huft ohet | SireT ST &:

Options :

1. % 4RI &HAT

2. ® giees en

3. ¥ Il o1 g

4. A e

Question Number : 62 Question Id : 352795462 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25



Which law is applied in electrolysis?
Options :

1. % faraday's law

2. # coulomb's law

3. # ohm's law

4, % Lenz's law

Question Number : 62 Question Id : 352795462 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

forega sroees & fone faw ar SrgyraT gtar &2
Options :

1. ¢ e & fAaw

2. ¥ polrd oI |

3. % glew o1 fAom

4, % st o1 A

Question Number : 63 Question Id : 352795463 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What material is the battery box made of?

Options :

1. # plastic

2. # aluminum

3. ¥ hard rubber

4. # bakelite

Question Number : 63 Question Id : 352795463 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

et Sfer fohd uerd 8 o 872

Options :

1. ® wifees

2. ¥ gogHifaH

3. ¥ HOR TR

4., % Schelrse

Question Number : 64 Question Id : 352795464 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The resistance offered by the capacitor to A.C. ,it is called

Options :

1. * inductive reactance



2. ® resistance
3. ¥ holder reactance

4. * all of these

Question Number : 64 Question Id : 352795464 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

GeTRa gRT T8, & foig ugd fohar S arert fakty, shgerrdn @:

Options :

1. ¥ WRehrg ufdera

2. % gfoRiy

3. ¢ R ufdard

4, % g gt

Question Number : 65 Question Id : 352795465 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Current in a pure capacitive circuit, voltage to current,voltage to ...... degress ahead moves:
Options :

1. #® 180°

2. ¥ 90°

3. % 0°

4, % 120°

Question Number : 65 Question Id : 352795465 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

IS Fofdfea uRoy F gieear @ or1, aieear 9 ........... 3HST 3T Tt &

Options:

1. % 180

2.¥ 90

3.%0

4. % 120

Question Number : 66 Question Id : 352795466 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

In an arc furnace the heating chamber is made circular in view of the following:

Options :

1. ¥ to reduce the high temperature level

2. # to produce uniform heating

3. # to increase efficiency

4. % reducing power consumption



Question Number : 66 Question Id : 352795466 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

317eh Wgt # mfeifad &t 3f® & aruemer (heatingchamber) &t MATRR ST STTET 8

Options :

1. ¢ 3= ATUGE TR hH B

2. ® gHEY d1U- I~ hA

3. ¥ gyard gfg hA

4. % 31f<h hl GUd R hA

Question Number : 67 Question Id : 352795467 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Which of the following methods for heating of non-ferrous metals:

Options:

1. # dielectric heating

2. * radiant heating

3. ¥ indirect arc heating

4. # indirect resistance heating

Question Number : 67 Question Id : 352795467 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

areftg egait & AT 3 P & & @t Rfty e gt &:

Options:

1. ¥ WRIde qroA

2. % fafemor am=

3. ¥ I 3Tch dru

4. ¥ IJUFE faRY qT

Question Number : 68 Question Id : 352795468 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Stirring of molten metal in an electric arc furnace arises because of

Options:

1. * high voltage

2. ® low frequency

3. * Vortex current

4. ¢ Electricity produced due to the flow of electric current through the charge magnetic force

Question Number : 68 Question Id : 352795468 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25



faega ammeh vl 7 nifera arg # faetted (stiring) F=feifEa & sRur 3= giar &:
Options:

1. ¥ I dleds

2. % fa= g

3. # YR 4RI

4, 97151 § gTex fAeg[d URT o UaTg h hRUT I fAeg[d grarehig do

Question Number : 69 Question Id : 352795469 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The efficiency of an electric furnace lies between:

Options:

1. ¥ 75 to 100%

2. ® 65t0 75%

3. # 50 to 65%

4. % 40to 50%

Question Number : 69 Question Id : 352795469 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

faega gt e geran RfaiRad & st gidl &:

Options :

1. 753100 %

2. % 65875 %

3. ¥ 50965 %

4. % 40850 %

Question Number : 70 Question Id : 352795470 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The Types of electro- resistant furnaces are:

Options:

1. # direct resistive heating furnace

2. * indirect resistive heating furnace

3. ¥ Direct and indirect resistive heating furnace

4. #® induction heating furnace

Question Number : 70 Question Id : 352795470 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
faera ufaRielt wiigat & vr &:

Options:



1. ¥ gger ufaziedt ifdm Wt

2. ¥ Jrgycger gfarredt gifé o

3. ¥ yger 3R et ufaRiedt gifd ergt
4, ¥ 3-gaxM gifeT g

Question Number : 71 Question Id : 352795471 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

How is Induction heating and is heat generated?

Options :

1. ® passing current through charge

2. ¥ induced current in the material

3. ® Arc between charge and electrode

4. ® Using heating element

Question Number : 71 Question Id : 352795471 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

SUSHI BT I HVAT Hhe I gl 872

Options :

1. % Trof & @ uRT R @

2.V g A URq a1 §

3. & 3o 3R 3ol o i 3h g O

4, % g geAAUe o1 gahT A 9

Question Number : 72 Question Id : 352795472 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What type of welding is recommended for welding sheets?

Options :

1. #¥ butt-welding

2. # point welding

3. ¥ seam welding

4. % projection welding

Question Number : 72 Question Id : 352795472 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

it &t AfeET & g forg g &t Afedn i Rmmier 6 smg?

Options :

1. ¥ gg-afedT

2. % Rrgifeen



3. ¢ didfeeT
4. % yguafedn

Question Number : 73 Question Id : 352795473 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Which welding is used to join nuts and bolts?

Options :

1. ¢ projection welding

2. % Point welding

3. # flash welding

4, #® butt welding

Question Number : 73 Question Id : 352795473 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
qe 3R diec! &l Siie+ o folg fopg afed ot i fopar Sirar 82

Options :

1. ¢ ygy afedn
2. % fo=g afedm
3. % gy afesT
4. % §g Afedn

Question Number : 74 Question Id : 352795474 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The 'filler' metal in the soldering process is:

Options :

1. # lead

2. % tin

3. ¥ lead-tin mixture metal

4. ¥ Brass

Question Number : 74 Question Id : 352795474 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

et ufar § 'frer’ org B &:

Options :

1. % ds

2. % foq

3. ¥ oe-feq Ayor arg

4. ¥ dad



Question Number : 75 Question Id : 352795475 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The wire used in a fuse is characterized by

Options :

1. ® Low resistance power and high melting point

2. ® Jow resistance power and low melting point

3. ¢ High resistivity and low melting point

4. ® High resistivity and high melting point

Question Number : 75 Question Id : 352795475 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

WSl H U g drell aR i fasivar gidt &:
Options :

1. ® 9= gfoxty i<k 3R =3 TR

2. % a1 gfoRty ik SR e et

3. ¢ 3I=g ufeRiy ik 3R 39 T

4. ¥ 3= gty 1fh 3R 3= TR

Question Number : 76 Question Id : 352795476 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The principle of fuse is:

Options :

1. ® chemical effect of electricity

2. # mechanical effect of electricity

3. ¥ Heating effect of electricity

4. ¥ magnetic induction of electricity

Question Number : 76 Question Id : 352795476 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
RSt ol g 8

Options :

1. ¥ fagd o1 TGRS UHTE
2. ® fagd o1 a1f=es gvma
3. ¢ fagd &1 S uHTE

4, % fag[d 1 rIchig OROT

Question Number : 77 Question Id : 352795477 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25



Which process is followed for joining thin sheets of metal?
Options :

1. % brazing

2. ¥ welding

3. * Soldering

4. % none of these

Question Number : 77 Question Id : 352795477 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

YTq ch! el ATER T SIS oh felq ehi-3t Ufchan SIS STl 872

Options :

1. % ifSi

2. ¢ AfEn

3. ¥ glesR

4. % 38 I A Ao

Question Number : 78 Question Id : 352795478 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Welding of two segments is possible in resistance welding

Options :

1. #* by applying external pressure

2. ¥ By no external pressure

3. ¥ is possible with or without external pressure.

4. ¥ none of these

Question Number : 78 Question Id : 352795478 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

gfeRly afedT # &t @uel & AfeeT ¥va &

Options :

1. ® 9189 @ =

2. % qEAEAATH Y

3. ¢ 9189 &9 oA & A1 fo1 9183 319 & ot §9a 8

4. % 0 T RIS g

Question Number : 79 Question Id : 352795479 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

To reduce the earth resistance of a grid sub-station, all earthing electrodes are connected in:
Options :

1. * series



2. ¥ parallel
3. # star
4. #® delta

Question Number : 79 Question Id : 352795479 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

e qa-& M & 1 S ol A oA & forg aoft arffin 3terdls o1 gU @

Options :

1. % gga

2. ¥ gAMIR

3. ¥ ¥R

4, ® ST

Question Number : 80 Question Id : 352795480 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Which one of the soil is suitable for earthing:

Options:

1. # Sandy soil

2. # stony soil

3. # dry hard soil

4. ¥ grossy porous

Question Number : 80 Question Id : 352795480 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

A F & e o gt iffer 3 forg Suge &
Options:

1. ® At gt

2. % geiett gt

3. ® gdi ek A

4, ¥ Hohdd BT

Question Number : 81 Question Id : 352795481 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Earth resistance should be measured:

Options:

1. ¥ winter, because earth resistance is maximum

2. ¥ summer, because earth resistance is maximum

3. # winter, because earth resistance is minimum



4. % summer, because earth resistance is minimum

Question Number : 81 Question Id : 352795481 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
gecit gfaRite et |41 ST AR

Options:

1. % T, Faifh gt uforty tfdehan &
2. ¢ i, iifeh gt ufekty sifdepad 8
3. % gdf, oifes gedt ufRy < @
4, % T, Riifeh gt ufoty == @

Question Number : 82 Question Id : 352795482 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the maximum permissible earth resistance for a large power station:
Options:

1. % 1.0 ohm

2. ¥ 0.5 0hm

3. % 2.0 ohm

4. ® 0.8 ohm

Question Number : 82 Question Id : 352795482 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

fAefafad # @ o= 9 o urer wWeH & forg srfderan sigaa gedt uforiy 2:

Options :

1. % 1.0 311

2. ¥ 0.5 31H

3. % 203

4, % 0.8 31H

Question Number : 83 Question Id : 352795483 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The fuse rating is expressed in terms of:

Options:

1. % Current

2. ® voltage

3. ¥ VAR

4, % KVA



Question Number : 83 Question Id : 352795483 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

ST T et wY H eherd fehdT ST 8:

Options:

1. ¥ 4T

2. ® gieds

3. % grR

4. % 3y

Question Number : 84 Question Id : 352795484 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Fuses have got advantages of

Options:

1. ¥ cheapest type of protection

2. % no maintenance

3. # Current limiting effects under short-circuit conditions

4. ¢ all of these

Question Number : 84 Question Id : 352795484 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

WISl & GBS A 8

Options :

1. ¥ a8 KT UhR I a7

2. ¥ ol T@RET gl

3. ¥ ré-gfdhe fAfaal & agd adar Wi gvra

4, < gt

Question Number : 85 Question Id : 352795485 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

A fuse in a motor circuit provide protection against

Options:

1. % overload

2. ¥ Short-circuit and overload

3. # Open circuit, short-circuit and overload

4. % none of these

Question Number : 85 Question Id : 352795485 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
Hiex aRuy 7 g fhdeh faeeeg REI UaH &hdl 872




Options :

1. ® JAfA9R

2. ¢ giié-afdhe 3R sterere

3. # 3Miu= Gfche, TE-Tfche 3R 3farars
4. % 3T QRIS 51

Question Number : 86 Question Id : 352795486 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

In a circuit breaker the active recovery voltage depends upon:

Options :

1. # circuit Conditions

2. * power factor

3. ® armature reaction

4. ¢ all of these

Question Number : 86 Question Id : 352795486 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
Ueh Gfthe sak A Ifcha Repa<t aieest Ak a=ar &

Options :

1. # gfche ot fFAfa
2. ® R theaeR

3. ¥ =R ufdfoar
4, v 3 g+t

Question Number : 87 Question Id : 352795487 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Main purpose of oil in oil circuit breaker is to:

Options :

1. * provide insulation

2. ® provide cooling of contacts

3. ¥ quenching arc

4. * all of these

Question Number : 87 Question Id : 352795487 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

d Gfdhe siepe & ddl o1 §&A e 6

Options :

1. ¥ I UG e



2. & gUahl hl $ST hAT TS he
3. v ET 9g
4. % g gaft

Question Number : 88 Question Id : 352795488 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Arc interruption in an oil circuit breaker takes place when:

Options :

1. % contacts apart

2. * voltage goes through zero

3. ¥ current goes through zero

4. ® none of these

Question Number : 88 Question Id : 352795488 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Uch def Tfthe s T TTT Tehlae dd gidt g oid:

Options :

1. % TUch e

2. % diedst YT § ToRAT &

3. ¢ T YT Y gl STl g

4, % 38§ HIE T8

Question Number : 89 Question Id : 352795489 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Galvanized steel wire is usually used as:

Options :

1. ¢ stay wire

2. % earth wire

3. ® structural components

4. * all of these

Question Number : 89 Question Id : 352795489 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

KT SEUT dR AR WR, o &Y # gaiT fhar Sirdn g:

Options :

1. ¥ € dRr

2. % gt ar

3. ¥ OIgATcHh Ucch




4. % g gf

Question Number : 90 Question Id : 352795490 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The insulating material Most commonly used for power cables:

Options :

1. % PVC

2. ® paper

3. ® rubber

4.+ all of these

Question Number : 90 Question Id : 352795490 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Riere Shereit & Forg Tt aiflies IuaiT Y ST areft s=gete meaf:

Options :

1. ® O

2. ¥ 9w

3. % WS

4.« gt

Question Number : 91 Question Id : 352795491 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Color of earth wire:

Options :

1. ¥ Red

2. # Yellow

3. # Blue

4. ¥ green

Question Number : 91 Question Id : 352795491 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

31ef TR <hT 37 gl &

Options :

1. %3

2. % dier

3. ® ter

4. o=



Question Number : 92 Question Id : 352795492 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Switches used in stair case:

Options :

1. # tubler switch

2. ¥ intermediate switch

3. ¥ two way switch

4. % none

Question Number : 92 Question Id : 352795492 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

il o At d IUTRT fehg ST aret fea=r:

Options :

1. ¥ Tgaer &

2. ¥ Zeofifene g

3. ¥ g9 fEd

4. % i el

Question Number : 93 Question Id : 352795493 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

On over charging a battery:

Options :

1. # It will bring about chemical change in the active materials.

2. # Tt will increase battery capacity of the battery

3. ® It will raise the specific gravity of the electrolyte

4.+ none of these

Question Number : 93 Question Id : 352795493 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
et ot Hfeeh TSt et WR:

Options :

1. ® gg githg ggryl & Iqmafe aRkad= argm
2. ¥ gg S Y &HdT | gieg s

3. ® gg saaeiaige & fafdrse e ot agrg
4.« T8 q FIE T8

Question Number : 94 Question Id : 352795494 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
Following will happen if the battery charging rate is too high:



Options :

1. ® excessive gassing will occur

2. ¥ temperature risewill occur

3. ¥ Bulging and buckling of plates willoccur
4, ¢ all of these

Question Number : 94 Question Id : 352795494 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

I ATSl A Y R 9gd tfdes g1 R Aefafea g

Options :

1. #® srcafdes oG ghft

2. % qrgAM H gieg gt

3. ¥ wicl T IUR R SehfelT gIdT 8

4, g gt

Question Number : 95 Question Id : 352795495 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The terminal voltage when the battery is being charged decreases with:

Options :

1. % Increasing temperature

2. # Increasing charging rate

3. # Increasing state of charge

4, % 3|l of these

Question Number : 95 Question Id : 352795495 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

e =TSt g1 R A aledsT A gl STl 8

Options :

1. ¢ Jedl duA

2. % IfohT R TeMT

3. % 3MTAST hl Tad! AT

4, % g g+t

Question Number : 96 Question Id : 352795496 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

To reduce power consumption, the capacitors should be located:

Options :

1. % as close as possible to the load



2. ® As far as possible to the load
3. # Not too close, not too far from the load

4. * all of these

Question Number : 96 Question Id : 352795496 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

farstett &Y @ud &l A & & folg, Fafder [RAa g =nfau:

Options :

1. ¢ de & a1 e gt gk

2. ® SIgl deh ¥4 gl olte &3 & folg

3. ¥ ggd ury gl oie ° 9gd & el

4, % g gt

Question Number : 97 Question Id : 352795497 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Power factor of a load can be improved by using:

Options:

1. # static capacitor

2. * synchronous condenser

3. ¥ phase advancer

4. ¥ all of these

Question Number : 97 Question Id : 352795497 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
TS o UTeR ThekeX T JUANT ehich YUR fohdT ST Hehal &:

Options:

1. ¥ fRRdurfa

2. % gegahIferd Tuf
3. ¥ RO AR

4, v 3 g+t

Question Number : 98 Question Id : 352795498 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Megger is a..............

Options:

1. ® source of E.M.F.

2. ¥ Source to measure high resistance

3. # type of a null detector



4. % current carrier

Question Number : 98 Question Id : 352795498 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Options:

1. # 3UA.UG. I &I

2. ¢ I=g ufaRiY &t A1+ o forg St
3. ® U I fSTaR &l YR

4, % gAH aTgh

Question Number : 99 Question Id : 352795499 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The function of shunt in an ammeteris to:

Options:

1. % by pass the current

2. ® increase sensitivity of the ammeter

3. # Increase the resistance of the ammeter

4. ¥ none of these

Question Number : 99 Question Id : 352795499 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

uHtex § ic &1 hid 8:

Options :

1. ¢ I UTH EHch

2. % uHier &t Gdgaefierdr serd

3. ¥ gHieR & ufa’iy &l sigTd

4. % 30 J HIS T8

Question Number : 100 Question Id : 352795500 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

For measuring current at high frequency we should use:

Options:

1. # Moving Iron Instrument

2. ® electrostatic equipment

3. ¥ thermocouple device

4. ¥ none of these



Question Number : 100 Question Id : 352795500 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

g AT R IRT ATYA o folg g7 ITANT ST A1
Options:

1. # g & IUHUT dl FeAHT

2. ® Folaciefden IuhOT

3. ¥ YAIRUS UG

4. % 3N T RIS g




